
 

https://tehnoteka.rs

Uputstvo za montažu i instalaciju (EN)
Zidni nosač za TV S BOX LCD-2901

Tehnoteka je online destinacija za upoređivanje cena i karakteristika bele tehnike,
potrošačke elektronike i IT uređaja kod trgovinskih lanaca i internet prodavnica u Srbiji.
Naša stranica vam omogućava da istražite najnovije informacije, detaljne karakteristike
i konkurentne cene proizvoda.

Posetite nas i uživajte u ekskluzivnom iskustvu pametne kupovine klikom na link:

https://tehnoteka.rs/p/zidni-nosac-za-tv-s-box-lcd-2901-akcija-cena/

                               1 / 6

https://tehnoteka.rs/?utm_source=tehnoteka&utm_medium=pdf&utm_campaign=click_pdf
https://tehnoteka.rs/p/zidni-nosac-za-tv-s-box-lcd-2901-akcija-cena/?utm_source=tehnoteka&utm_medium=pdf&utm_campaign=click_pdf


English

Installation Instruction

UNPACKING INSTRUCTIONS
! Carefully open the carton, remove contents and lay out on cardboard or other 

protective surface to avoid damage.

! Check package contents against the Supplied Parts List in the next page to assure 

  that all components were received undamaged.  Do not use damaged or defective 

   parts.

! Carefully read all instructions before attempting installation.

IMPORTANT SAFETY INFORMATION
Install and operate this device with care.  Please read this instruction before 

beginning the installation, and carefully follow all instructions contained herein. Use 

proper safety equipment during installation.

Please call a qualified installation contractor for help if you:

! If you don't understand these directions or have any doubts about the safety of the 

installation.

! If you are uncertain about the nature of your wall, consult a qualified installation 

contractor.

Do not use this product for any purpose or in any configuration not explicitly specified 

in this instruction.  We hereby disclaims any and all liability for injury or damage 

arising from incorrect assembly, incorrect mounting, or incorrect use of this product.

1

                               2 / 6                               1 / 4                               2 / 6



Supplied Parts List

2

CAUTION!

WARNING

! This TV mount must be securely attached to the 
vertical wall.  If the mount is not properly 
installed it may fall, resulting in possible injury 
and/or damage.

Note: The mounting components and hardware supplied in this package are 
not designed for installations to walls with steel studs or to cinder block walls.  
If the hardware you need for your installation is not included, please consult 
your local hardware store for proper mounting hardware for the application. 

Tools Required
3.8mm Drill Bit

Phillips Screwdriver

8mm Masonry Bit

Carpenter's Level

(1)Wall Plate-a (1)VESA 200 Plate-b (4)M4x12 Bolt-c (4)M4x30 Bolt-d

(4)M6x12 Bolt-e (4)M6x35 Bolt-f

(4)M4/M6 Space-i (2)Allen Bolt-j

(8)M4 Washer-g (6)M6 Washer-h

(2)Lag Bolt-k (2)Concrete Anchor-l

(1)Allen Key

                               3 / 6                               2 / 4                               3 / 6



50mm

3.8mm

Brick Mount

Step 1 Mounting the Wall Plate to the Wall

3

a

k

Wood Mount

40mm
50mm

8mm

a

l

k

                               4 / 6                               3 / 4                               4 / 6



4

Step 2

Step 3

Thanks for choosing our products, enjoy the using.

Attaching TV to Wall Plate

a

b

j
h

Step 4 Levelling Mount

You can re-level the mount after the mount has 
been installed on the wall. Leveling is achieved by 
rotating the front plate the TV sits on, just hold the 
TV and do the adjustment. 

Mounting the VESA 200 Plate to a TV

For Flat Back TV For Curved Back TV

This way up! This way up!

g,hc,e

b

d,f g,h ig

                               5 / 6
Powered by TCPDF (www.tcpdf.org)

                               4 / 4                               5 / 6



https://tehnoteka.rs

Ovaj dokument je originalno proizveden i objavljen od strane proizvođača,
brenda S BOX, i preuzet je sa njihove zvanične stranice. S obzirom na ovu
činjenicu, Tehnoteka ističe da ne preuzima odgovornost za tačnost,
celovitost ili pouzdanost informacija, podataka, mišljenja, saveta ili izjava
sadržanih u ovom dokumentu.

Napominjemo da Tehnoteka nema ovlašćenje da izvrši bilo kakve izmene ili
dopune na ovom dokumentu, stoga nismo odgovorni za eventualne greške,
propuste ili netačnosti koje se mogu naći unutar njega. Tehnoteka ne
odgovara za štetu nanesenu korisnicima pri upotrebi netačnih podataka.
Ukoliko imate dodatna pitanja o proizvodu, ljubazno vas molimo da
kontaktirate direktno proizvođača kako biste dobili sve detaljne
informacije.

Za najnovije informacije o ceni, dostupnim akcijama i tehničkim
karakteristikama proizvoda koji se pominje u ovom dokumentu, molimo
posetite našu stranicu klikom na sledeći link:

https://tehnoteka.rs/p/zidni-nosac-za-tv-s-box-lcd-2901-akcija-cena/

Powered by TCPDF (www.tcpdf.org)

                               6 / 6

https://tehnoteka.rs/?utm_source=tehnoteka&utm_medium=pdf&utm_campaign=click_pdf
https://tehnoteka.rs/p/zidni-nosac-za-tv-s-box-lcd-2901-akcija-cena/?utm_source=tehnoteka&utm_medium=pdf&utm_campaign=click_pdf
http://www.tcpdf.org

